
https://www.passapply.com/a2090-619.html
2024 Latest passapply A2090-619 PDF and VCE dumps Download

 

 

 

A2090-619Q&As

Assessment: Informix Server 12.10 Assessment

Pass IBM A2090-619 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/a2090-619.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

A2090-619 VCE Dumps | A2090-619 Practice Test | A2090-619 Study Guide                                1 / 3

https://www.passapply.com/a2090-619.html
https://www.passapply.com/a2090-619.html
https://www.passapply.com/a2090-619.html


https://www.passapply.com/a2090-619.html
2024 Latest passapply A2090-619 PDF and VCE dumps Download

QUESTION 1

Which value of DRINTERVAL should be used for HDR_TXN_SCOPE configuration parameter to take effect? 

A. -1 

B. 0 

C. 1 

D. 30 

Correct Answer: B 

 

QUESTION 2

You are running an UPDATE statement on a table using dbaccess. What kind of lock type is expected? 

A. Byte 

B. Update 

C. Shared 

D. Exclusive 

Correct Answer: D 

 

QUESTION 3

What is the purpose of the GRANT ADMIN privilege? 

A. Grants the admin privilege to create role separation. 

B. Grants the admin privilege to perform DBSA functions. 

C. Grants the admin privilege to use the Open Admin Tool. 

D. Grants the admin privilege to run SQL administration API commands. 

Correct Answer: D 

 

QUESTION 4

The DBA wants to define a replicate as follows: 
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Which condition must be true for the command to execute successfully? 

A. The table table1 should have col1 as its primary key. 

B. The table table1 should have CRCOLS shadow columns. 

C. The table table1 should have a constraint on column col1. 

D. The table table1 should have an unique index on column col2. 

Correct Answer: D 

 

QUESTION 5

Which command line utility does NOT have the equivalent functionality using the SQL Administration API? 

A. oninit 

B. onmode 

C. onspaces 

D. onparams 

Correct Answer: A 
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